. VCE & PDF https://www.pass4itsure.com/hpe0-j50.html
g 2024 Latest passditsure HPE0-J50 PDF and VCE dumps Download

PassditSure.com

HPEQ-J50%4As

Integrating Protected HPE Storage Solutions

Pass HP HPEO-J50 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/hpe0-j50.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by HP Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

HPEO0-J50 VCE Dumps | HPEO0-J50 Practice Test | HPEO-J50 Braindumps 1/5


https://www.pass4itsure.com/hpe0-j50.html
https://www.pass4itsure.com/hpe0-j50.html
https://www.pass4itsure.com/hpe0-j50.html

VCE & PDF https://www.pass4itsure.com/hpe0-j50.html
2024 Latest passditsure HPE0-J50 PDF and VCE dumps Download

PassditSure.com

QUESTION 1

When using the CLI for performance monitoring on an HPE 3PAR array, for which component in the datapath would the
“stavlun” command give an output? (Click on the correct option.)

Hot Area:

Correct Answer:
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QUESTION 2

A customer with an HPE 3PAR 8200 unit has concerns about tracking missing updates and where to find the
information on when upgrades were done in the past. With previous storage systems the customer ran out of storage
before knowing that they needed to order more storage.

What can the integrator do to help the customer with these concerns?

A. Use the 3PAR Service Processor for Insplore event notification.

B. Enable StoreFront Remote integration.

C. Schedule SSMC Overview reports for the customer.
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D. Link the 3PAR Service Agreement ID to customer’s HPE passport account for storage reporting.

Correct Answer: C

QUESTION 3
A storage integrator is planning the implementation of a single HPE StoreOnce 3100.

How many power cords are required to be connected to PDU from this storage system, when power supply kit was
ordered?

A.0
B.2
C. 4
D.6
Correct Answer: B

Reference: https://h20195.www2.hpe.com/v2/GetPDF.aspx/c04328820.pdf

QUESTION 4

A storage integrator has connected a new Windows Server 2012 host to a customer\\'s fabric where five HPE 3PAR
StoreServ arrays are already installed. The integrator plans to create a script to send the information about the new host
to all HPE 3PAR arrays in an automated way.

Which Host Explorer command should be used?

A. tpdhostget status

B. hostagent set

C. tpdhostagent push

D. hostagent list

Correct Answer: C

Reference: https://h20195.www2.hpe.com/v2/GetPDF.aspx/4AA4-4524ENW.pdf (12)

QUESTION 5

An integrator is validating a design for an HPE 3PAR StoreServ solution. The assessment document shows that there is
structured cabling between the rack the array will be installed in and the racks with the SAN switches. The fiber
segments between the racks are documented as being 50 micron OM2 and are terminated with SC connectors.

What needs to be considered when validating this design?
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A. 3PAR arrays must be directly connected to SAN switches.
B. The SC connectors must be replaced by LC connectors.
C. OM2 Fiber cables are not supported for 8 Gbps.

D. Fiber segments cannot mix OM2 and OM4 cables.

Correct Answer: B
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